
(à 6 - Loyset Piéton)
Benedictus es caelorum

Valentin Bakfark













































5 












      







  
  




  


 




    
  

10

   


 





















       


































15 



















































  



























20 































































  













25 




 

















































































30 












  



























































      

35 






























































































40 

















































 
































45 
























  
  





















































50 








    



























































    

55 














































































60 


































1)
















































65






  









Intabulatura (1552), f.e1. Encoded and edited by Sarge Gerbode.

1) Here, and in several other places, there is an F on the 4th course and an 4# on the 2nd. I'm going with the F#.
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
















170 

















































  





























175 






































































180 




































































185 































































    





















190 



































































       

195 





































































  




















200 



















































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Part 2
Per illud ave

































5 































































10 



























































15 




































































20 


































































25 





























































30 
































































 









35 




























































 









       












40 



































































45 







 








































































 





50 




















































































  

55 

















































































60 












































































65 





























































70 

















































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



















75 
























































80 








































































85 























 

























































90 








    





































































95 







































































100 















































































  

105 

































































































 

110 




















































































  

115 









































































































120 
























































































































125 











































































































130 












  






















































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